

Remarks on a paper by K. Adegoke

Edgar Valdebenito

July 21, 2025

Abstract

Recently, K. Adegoke et al. (arXiv: 2505.11575v1, 16 May 2025) established a number of results on binomial series. In this note, we explore some particular cases of these series.

1 Introduction

In Reference [1], the following formulas are presented

$$\sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2^{n+1}} \binom{2n}{n} 2^{-2n} x^{2n+1} = \sqrt{2} \arctan\left(\frac{x}{\sqrt{1+\sqrt{1+x^4}}}\right), \quad |x| \leq 1 \quad (1)$$

$$\sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2^{n+1}} \binom{2n}{n} 2^{-2n} x^{2n+1} = \sqrt{2} \operatorname{arctanh}\left(\frac{x}{\sqrt{1+\sqrt{1+x^4}}}\right), \quad |x| \leq 1 \quad (2)$$

$$\sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2^{2n}} \binom{2n}{n} x^n = \sqrt{\frac{\sqrt{1+x^2}-x}{1+x^2}}, \quad |x| \leq 1 \quad (3)$$

$$\sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2^{2n}} \binom{2n}{n} x^n = \sqrt{\frac{\sqrt{1+x^2}+x}{1+x^2}}, \quad |x| \leq 1 \quad (4)$$

$$\sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2^{n+1}} \binom{2n}{n} 2^{-4n} = 2\sqrt{2} \arctan(\sqrt{\sqrt{17}-4}) \quad (5)$$

where $\lfloor \cdot \rfloor$ is the floor function and $\lceil \cdot \rceil$ is the ceiling function.

In this note, we derive many interesting identities involving the central binomial coefficients.

Recall that

$$\phi = \frac{1 + \sqrt{5}}{2} \quad (6)$$

$$\pi = 4 \sum_{n=0}^{\infty} \frac{(-1)^n}{2^{n+1}} \quad (7)$$

$$F_{n+2} = F_{n+1} + F_n, \quad F_0 = 0, \quad F_1 = 1 \quad (8)$$

where F_n are the Fibonacci numbers.

2 Main Examples

Entry 1.

$$\pi = \frac{3\sqrt{3}}{\sqrt{2}} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2^{n+1}} \binom{2n}{n} \left(\frac{3}{16}\right)^n \quad (9)$$

Proof. setting $x = \frac{\sqrt{3}}{2}$ in (1).

Entry 2.

$$\pi = 2 \sqrt{2} \sqrt{2} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} \left(\frac{1}{8\sqrt{2}} \right)^n \quad (10)$$

Proof. setting $x = 2^{-3/4}$ in (1).

Entry 3.

$$\pi = 2 \sqrt{2} \sqrt{2} \sum_{n=0}^{\infty} \frac{(-1)^n}{4n+1} \binom{4n}{2n} 2^{-7n} - \frac{1}{2\sqrt{2}\sqrt{2}} \sum_{n=0}^{\infty} \frac{(-1)^n}{4n+3} \binom{4n+2}{2n+1} 2^{-7n} \quad (11)$$

Proof. In (10), we use $\sum_{n=0}^{\infty} a_n = \sum_{n=0}^{\infty} a_{2n} + \sum_{n=0}^{\infty} a_{2n+1}$.

Entry 4.

$$\pi = \sqrt{2} \sqrt{3} \sqrt{3} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} \left(\frac{1}{16\sqrt{3}} \right)^n \quad (12)$$

Proof. setting $x = \frac{1}{2} \cdot 3^{-1/4}$ in (1).

Entry 5.

$$\pi = \sqrt{2} \sqrt{3} \sqrt{3} \sum_{n=0}^{\infty} \frac{(-1)^n}{4n+1} \binom{4n}{2n} 2^{-8n} \cdot 3^{-n} - \frac{\sqrt{\sqrt{3}}}{8\sqrt{2}} \sum_{n=0}^{\infty} \frac{(-1)^n}{4n+3} \binom{4n+2}{2n+1} 2^{-8n} \cdot 3^{-n} \quad (13)$$

Proof. In (12), we use $\sum_{n=0}^{\infty} a_n = \sum_{n=0}^{\infty} a_{2n} + \sum_{n=0}^{\infty} a_{2n+1}$.

Entry 6.

$$\pi = 2 \arctan\left(\frac{1}{\sqrt{\phi}}\right) + 2 \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} \left(\frac{1}{8}\right)^n \quad (14)$$

$$\pi + 4 \arctan\left(\frac{\sqrt{\phi}-1}{\sqrt{\phi}+1}\right) = 4 \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} \left(\frac{1}{8}\right)^n \quad (15)$$

Proof. setting $x = 1/\sqrt{2}$ in (1), and using the relations

$$2 \arctan(\sqrt{\sqrt{5}-2}) = \arctan(\sqrt{\phi}) = \frac{\pi}{2} - \arctan\left(\frac{1}{\sqrt{\phi}}\right), \quad \phi = \frac{1+\sqrt{5}}{2} \quad (16)$$

$$\arctan\left(\frac{1}{\sqrt{\phi}}\right) = \frac{\pi}{4} - \arctan\left(\frac{\sqrt{\phi}-1}{\sqrt{\phi}+1}\right) \quad (17)$$

Entry 7.

$$\pi = 4 \sqrt{2} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} 2^{-2n} \sum_{k=0}^n \binom{2n+1}{2k+1} (-1)^k u^{2n-2k} v^{2k+1} \quad (18)$$

where

$$u = \frac{1}{4} \sqrt{-\frac{9}{5} + \sqrt{10}}, \quad v = \frac{1}{52} \sqrt{-\frac{9}{10} + \sqrt{\frac{5}{2}}} (9\sqrt{2} + 10\sqrt{5}) \quad (19)$$

Proof. setting $x = u + iv$ in (2) and performing some algebraic manipulations.

Entry 8.

$$\pi = 12 \arctan\left(\frac{2 - \sqrt{3} - \sqrt{\sqrt{82} - 9}}{1 + (2 - \sqrt{3})\sqrt{\sqrt{82} - 9}}\right) + 2\sqrt{2} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} 6^{-2n} \quad (20)$$

Proof. setting $x = 1/3$ in (1), and use the relation $\tan(\pi/12) = 2 - \sqrt{3}$.

Entry 9. for $|x| \leq 1$ we have

$$x \sqrt{\frac{\sqrt{1+x^4} - x^2}{1+x^4}} = \sqrt{2} \arctan\left(\frac{x}{\sqrt{1+\sqrt{1+x^4}}}\right) + 2 \sum_{n=1}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor} n}{2n+1} \binom{2n}{n} 2^{-2n} x^{2n+1} \quad (21)$$

$$x \sqrt{\frac{\sqrt{1+x^4} + x^2}{1+x^4}} = \sqrt{2} \operatorname{arctanh}\left(\frac{x}{\sqrt{1+\sqrt{1+x^4}}}\right) + 2 \sum_{n=1}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor} n}{2n+1} \binom{2n}{n} 2^{-2n} x^{2n+1} \quad (22)$$

Proof of (21). Using (3), we find that

$$x \sqrt{\frac{\sqrt{1+x^4} - x^2}{1+x^4}} = \sum_{n=1}^{\infty} (-1)^{\lfloor \frac{n}{2} \rfloor} \binom{2n}{n} 2^{-2n} x^{2n+1} = 2 \sum_{n=1}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor} n}{2n+1} \binom{2n}{n} 2^{-2n} x^{2n+1} + \sum_{n=1}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} 2^{-2n} x^{2n+1} \quad (23)$$

Using (1), we obtain (21).

Proof of (22). Using (4), we find that

$$x \sqrt{\frac{\sqrt{1+x^4} + x^2}{1+x^4}} = \sum_{n=1}^{\infty} (-1)^{\lfloor \frac{n}{2} \rfloor} \binom{2n}{n} 2^{-2n} x^{2n+1} = 2 \sum_{n=1}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor} n}{2n+1} \binom{2n}{n} 2^{-2n} x^{2n+1} + \sum_{n=1}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} 2^{-2n} x^{2n+1} \quad (24)$$

Using (2), we obtain (22).

Entry 10. for $\frac{1-\sqrt{\sqrt{2}-1}}{1+\sqrt{\sqrt{2}-1}} \leq x \leq \sqrt{\sqrt{2}-1}$ we have

$$\pi = 2\sqrt{2} \sum_{n=1}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} 2^{-2n} \left(\left(\frac{\sqrt{2}x}{\sqrt{1-x^4}} \right)^{2n+1} + \left(\frac{1-x^2}{\sqrt{x}\sqrt{4+4x^2}} \right)^{2n+1} \right) \quad (25)$$

Proof. In (1), we use the relation $\pi/4 = \arctan(x) + \arctan((1-x)/(1+x))$.

Entry 11.

$$\pi = 8 \arctan(\sqrt{\sqrt{17}-4}) + \sqrt{2} \sum_{n=0}^{\infty} \frac{2^{-3n-3}}{2n+3} \binom{2n+2}{n+1} \sum_{k=0}^n 2^{-k} (-1)^{\lfloor \frac{k+1}{2} \rfloor} (2 + (-1)^k) \quad (26)$$

Proof. we use Abel's summation formula in (5), and $\pi/4 = \arcsin(1/\sqrt{2})$.

Entry 12. for $0 \leq x \leq \sqrt{\sqrt{2}-1}$ we have

$$x \arctan(x) - \frac{1}{2} \ln(1+x^2) = \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor} 2^{-n}}{(2n+1)(2n+2)} \binom{2n}{n} x^{2n+2} {}_2F_1\left(n + \frac{1}{2}, \frac{n+1}{2}, \frac{n+3}{2}, x^4\right) \quad (27)$$

where ${}_2F_1$ is the Gauss hypergeometric function.

Proof. setting $x = \frac{\sqrt{2}y}{\sqrt{1-y^4}}$ in (1) and integrating both sides of equation.

Entry 13. for $|x| < 1$ we have

$$\frac{1}{2} x \sqrt{x^2 + \sqrt{1+x^4}} + \frac{1}{2\sqrt{2}} \arctan\left(\sqrt{2}x \sqrt{x^2 + \sqrt{1+x^4}}\right) = \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} 2^{-2n} x^{2n+1} {}_2F_1\left(-\frac{1}{2}, \frac{2n+1}{4}, \frac{2n+5}{4}, -x^4\right) \quad (28)$$

where ${}_2F_1$ is the Gauss hypergeometric function.

Proof. In (4): $x \mapsto x^2$, and use the integrals $\int x^{2n} \sqrt{1+x^4} dx$, $\int \sqrt{\sqrt{1+x^4} + x^2} dx$.

Entry 14.

$$\pi + 6 \arctan \left(\frac{\sqrt{3}}{\sqrt{4\phi^4 + \sqrt{9+16\phi^8}}} \right) = 3 \sqrt{10} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor n/2 \rfloor} 2^{-2n}}{2n+1} \binom{2n}{n} \left(\frac{\sqrt{3}}{2\phi} \right)^{2n+1} F_{2n+1} \quad (29)$$

$$\pi + 8 \arctan \left(\frac{1}{\sqrt{2\sqrt{2}\phi^4 + \sqrt{1+8\phi^8}}} \right) = 4 \sqrt{10} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor n/2 \rfloor} 2^{-2n}}{2n+1} \binom{2n}{n} \left(\frac{1}{\sqrt[4]{8}\phi} \right)^{2n+1} F_{2n+1} \quad (30)$$

Proof. In (1), we use the relation $\sqrt{5} F_{2n+1} = \phi^{2n+1} - (-1/\phi)^{2n+1}$.

Entry 15.

$$\pi - 8 \operatorname{arctanh} \left(\frac{1}{\sqrt{2\sqrt{2}\phi^2 + \sqrt{1+8\phi^4}}} \right) = 2 \sqrt{2\sqrt{2}} \sqrt{5} \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor n/2 \rfloor} 2^{-2n}}{2n+1} \binom{2n}{n} \left(\frac{1}{2\sqrt{2}\phi} \right)^n F_n \quad (31)$$

Proof. In (1), we use the relation $\sqrt{5} F_n = \phi^n - (-1/\phi)^n$.

3 Endnote

$$\pi - \frac{8}{3} - 4 \sum_{n=1}^{\infty} \frac{(4n+2) 2^{4n+2}}{\binom{8n+4}{4n+2}} = \sum_{n=1}^{\infty} \frac{((-1)^{\lfloor n/2 \rfloor} + (-1)^{\lfloor n/2 \rfloor}) n 2^n}{\binom{2n}{n}} \quad (32)$$

$$\pi = 2 \sqrt{2} + 2 \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor n/2 \rfloor} 2^{-3n}}{2n+1} \binom{2n}{n} \left(\frac{\cos(\sqrt{2})}{\sqrt{\sin(\sqrt{2})}} \right)^{2n+1} \quad (33)$$

$$\pi = \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor \frac{n}{2} \rfloor}}{2n+1} \binom{2n}{n} 2^{-3n} (4 - 2^{-n} \sqrt{2} (\sqrt[4]{\phi})^{-18n-9}) \quad (34)$$

$$\pi = 12 \sum_{n=0}^{\infty} \frac{(-1)^{\lfloor n/2 \rfloor} 2^{-3n}}{2n+1} \binom{2n}{n} \left(\frac{1}{\sqrt{5\sqrt{2} + 3\sqrt{6}}} \right)^{2n+1} \quad (35)$$

4 References

1. K. Adegoke, R. Frontczak and T. Goy : On Some Series Involving the Central Binomial Coefficients. arxiv preprint arXiv:2505.11575v1 [math.CO], 16 May 2025. Available at <https://arxiv.org/abs/2505.11575>.
2. K. Adegoke, R. Frontczak and T. Goy : Fobonacci-Catalan series, Integers 22 (2022),#A110.
3. H. W. Gould : Combinatorial Identities: A Standardized Set of Tables Listing 500 Binomial Coefficient Summations, Morgantown, USA, 1972.
4. R. L. Graham, D. E. Knuth and O. Patashnik: Concrete Mathematics: A Foundation for Computer Science, Addison-Wesley, Reading, USA, 1994.
5. N. J. A. Sloane (ed.): The On-Line Encyclopedia of Integer Sequences. Published electronically at <https://oeis.org>, 2025.
6. R. Sprugnoli: Sums of reciprocals of the central binomial coefficients, Integers 6, #A27, 2006.